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uksV& lHkh iz'u gy dhft;sA
Attempt all questions.

[k.M (v)
(Section A)

1. [;kfr ds ewY;kadu dh fofHkUu fof/k;ksa dks Li"V dhft,A  13/16
Explain the various methods of Valuation of Goodwill.

2. fuEu nkf;Roksa ds lkFk X, Y fy- dk vfuok;Z lekiu gqvk % 13/17
jf{kr ysunkj 20,000 #- (25,000 #- izfrHkwfr;ksa ls izkIr gq,)
iwokZf/kdkj ysunkj 6,000 #-
vjf{kr ysunkj 30,500 #-
fuLrkj.k ds O;; 252 #-
fuLrkjd olwy gqbZ /kujkf'k dk 3% rFkk vjf{kr ysunkjksa dks forfjr dh x;h jkf'k dk 1½%
ikfjJfed izkIr djus dk vf/kdkjh gSA
fofHkUu lEifŸk;ksa ls 26,000 #- olwy gq, ftuesa ,slh lEifŸk;k° lfEefyr ugha gSa tks iw.kZ jf{kr
ysunkjksa ds ikl gSaA
fuLrkjd dk vfUre fooj.k [kkrk cukb,A fuLrkjd vius ikfjJfed dks csph x;h dqy lEifŸk;ksa
ls izkIr /ku ij ysus dk vf/kdkjh gS ftuesa os izfrHkwfr;k° Hkh lfEefyr gSa tks iw.kZ jf{kr ysunkjksa
ds ikl gSaA
X, Y Ltd. went into compulsory liquidation with following Liabilities :
Secured Creditors Rs. 20,000 (Securities realised Rs. 25,000)
Preferential Creditors Rs. 6,000
Unsecured Creditors Rs. 30,500
Liquidation Expenses Rs. 252
Liquidator’s Remuneration : 3% on the amount realised and 1½% on the
amount distributed to unsecured creditors.
Rs. 26,000 were realised from various assets and this amount does not
include those securities which are with the secured creditors.
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Prepare Liquidator’s Final Statement of Account. Liquidator is entitled for
remuneration on the amount realised on all the assets including those which
are with the secured creditors.

3. gLrkUrjd vkSj gLrkUrjh dEiuh fdls dgrs gSa \ gLrkUrjd vkSj gLrkUrjh dEiuh dh iqLrdksa esa
dkSulh izfof"V;k° dh tkrh gSa \  14/17
What is transferor and transferee company ? What accounting entries are
made in the books of transferor company and transferee company ?

[k.M (c)
(Section B)

4. ykxr ys[kkadu ls vki D;k le>rs gSa \ ykxr ys[kkadu dh mi;ksfxrk rFkk mÌs';ksa dk o.kZu
dhft,A  13/16
What do you understand by Cost Accounting ? Explain the importance of
Cost Accounting.

5. izfÿ;k ifjO;;kadu dh ifjHkk"kk nhft,A ifjO;;kadu ys[kkadu ds lkekU; flºkUrksa ,oa mldh
izeq[k fo'ks"krk,° crkb,A  13/17
Define Process Costing. Describe the principle of process costing and its
salient features.

6. bZf'kdk fyfeVsM dh ctVsM lwpuk fuEu gS % 14/17
mRikn A B C

#- #- #-
foÿ; 1,80,000 2,88,000 4,32,000
ifjorZu'khy O;; 90,000 1,15,200 1,29,600
LFkk;h ykxr 6,30,000 #-
vkidks lEHkkfor gkfu dks n'kkZrs gq, ,d fooj.k rS;kj djuk gS rFkk fdlh Hkh mRikn dh fcÿh esa
ifjorZu dh vuq'kalk dhft, ftlls lEHkkfor gkfu dks nwj fd;k tk ldsA
The budgeted information of Ishika Ltd. are the following :
Product A B C

Rs. Rs. Rs.
Sales 1,80,000 2,88,000 4,32,000
Variable Cost 90,000 1,15,200 1,29,600
Fixed Cost Rs. 6,30,000
You are required to prepare a statement showing the amount of loss expected
and recommend a change in the sales of any of the product which will eliminate
the expected loss.


